direg

Modern Transitional Coffee Table

By Nick Alicia
Difficulty
Moderate

This simple coffee table is designed with subtle tapered bottom legs and recessed top and can be incorporated into any

style of home. This is a simple weekend project for DIY’ers of any skill level. Overall size is 45.5 x 22.5x15.5".

e T

|

Page 1 of 10



direg

Tools Materials

Kreg Tools Wood Products
* 1 Plywood , 34" X 4 X 8’
Kreg® Pocket-Hole Jig 720PRO
R < < 4 Boards,2X2"X8
. .1

1 Scrap Piece Of Wood, Any Size , 4"

«— Zinc Pocket-Hole Screws .
Hardware & Supplies
1 Box Of 2 %" Kreg Pocket Hole Hardwood Screws (See Tools List)
3&*@;; Zinc Pocket-Hole Screws 1 Box Of1%" Kreg Pocket Hole Hardwood Screws (See Tools List)
1 Pencil
1 Wood Glue
Other Tools
1 Various Sandpaper Crits
Table saw

1 Wood Stain Of Choice
Circular saw
1 Flat Varnish

Jig saw

1 Bag Of Rags
Tape measure
Drill

Clamps

Orbital sander

Page 2 of 10


https://www.kregtool.com/shop/pocket-hole-joinery/pocket-hole-jigs/kreg-pocket-hole-jig-720pro/KPHJ720PRO.html
https://www.kregtool.com/shop/pocket-hole-joinery/pocket-hole-screws-plugs/zinc-pocket-hole-screws/SML-C250-50.html
https://www.kregtool.com/shop/pocket-hole-joinery/pocket-hole-screws-plugs/zinc-pocket-hole-screws/SML-C125-100.html

direg

Cut List & Parts

4 Legs,1¥2X1%"X15%
4 Spans,1%2 X1%" X 42 Y"
4 Side Spans,1%2X1%2" X 19 ¥%"

2 Top And Shelf, 42 12 X 19 V2" X 34"

L
= 15.5 ek 165 = 475 = 0.5 g T
o6 !
Fx2
= L 1= 15.5% i 42 5 i 5.5 = :::1 | o
L TL
P
L= 42.5 | i 4z 5 I~ o 7a | T
- 1
o6
2
E 15 5 LR == 5674 | T=
This '
[ = (YR ra T |
g L5
-
42 5 42 5 10.74
s i
=1 =

Page 3 of 10



direg

Directions

Step 1
Cut all parts to size as per the cut diagram (see steps two and three if you'd like to cut the angles on the legs). Drill pocket
holes on the 2x2 boards in the locations shown to accommodate 2-1/4" pocket-hole screws, paying special attention to the

19.5” pieces which only have one pocket hole on each end. For the plywood top and shelf, drill holes to accommodate 3/4"

pocket hole screws.

One pocket hole on each,
please note locations

T 425"
195"

l
]

xl

Page 4 of 10



direg

Step 2

Steps two and three are optional. You can leave the legs straight if desired. To make the first cut, measure and mark at 0.5"
along the bottom of the leg. Then measure and mark 2" from the bottom of the leg. Connect those two marks together.
Clamp the board down with the part you are cutting hanging over the edge of your workbench. Carefully cut using your

jigsaw along the line.

Use your jigsaw to carefully cut along this line

Page 5 of 10



direg

Step 3
To make the second cut, rotate the leg 45° so that the cut you just made is now facing down on your workbench. Again,
measure and mark at 0.5” along the bottom of the leg. Then measure and mark 2" from the bottom of the leg. Connect

those two marks together. Again, clamp down the board with the part you are cutting hanging over the edge of your

workbench. Carefully cut using your jigsaw along the line.

Use your jigsaw to carefully
cut along this line

Rotate leg 45° so that the
side you just cut is now facing down

Page 6 of 10



direg

Step 4

Attach legs to the 42.5" spans as shown in the diagram with wood glue and 2-1/4" pocket-hole screws. Note that the pocket-

holes should be facing downward. The bottom span should be attached 4.5” from the bottom of the leg, but you can
customize this if you want a lower or higher shelf.

r] 425"

'|
- Pocket-Holes are on the bottom '||
- Attach with 2-1/4" pocket hole screws

- Pocket-Holes are on the bottom
- Attach with 2-1/4" pocket hole screws

Page 7 of 10



direg

Step 5
Attach the side spans as shown using wood glue and 2-1/4" pocket hole screws, taking note of the location of the single

pocket hole. They should be on the outer edge. This avoids the screws colliding with the screws from the front span in the
leg.

- - Pocket-Hole should face the bottom and be on the outer edge on the bottom
- ttach with 2-1/4" pocket- hole screws

195°

— - Pocket-Hole should face the bottom and be on the outer edge on the bottor
- Attach with 2-1/4" pocket-hole screws

Page 8 of 10



direg

Step 6
6 Attach the top and shelf 1/4" from the top of the spans to give the table a recessed look. You can use a scrap piece of 1/4"

stock if you have it around, or simply measure and mark at various locations to help guide you. Attach with 1-1/4" pocket-

hole screws around the perimeter.

Top recessed by 1/4" all around.
Attach via under-side with 1-1/4"
pocket-hole screws all around.

Page 9 of 10



direg

Step 7
Sand, stain and finish with a matte or satin clear coat. For reference, the stain colour used here is Early American by Minwax

on white oak.

——1 455"

22.5"

-

15.5"

Page 10 of 10



	Modern Transitional Coffee Table
	Tools
	Kreg Tools
	Other Tools
	Materials
	Wood Products
	Hardware & Supplies
	Cut List & Parts
	Directions
	Step 1
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7



